COMMERCE
Name & Signature of the Invigilator PAPER-III  ICR Answer Sheet No. :

SEPTN3/17
— RollNo. :

e —— RollNumberinwords: ... .

Time : 2.30 Minutes] No. of Printed Pages : 40 |Maximum Marks : 150

Instructions for the Candidates

I. Write your Roll Mumber in the space provided on the top of this page.

2. This paper consisls of Seventy five (75) multiple choice type questions. All questions are compulsory.

3. At the commencement of examination, the question booklel will be given to candidate. In the first 5 minutes, candidate is requested
to open the booklet and compulsorily examine it'as below :

{i) To have access to the question booklet, tear off the paper seal on the edge of this cover page. Do not aceept a booklet without
sticker-seal and do not accept an open booklet.

(i) Tally the number of pages and number of guestions in the booklet with the information printed on the cover page. Faulty
booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct booklet from the invigilator within the period of five minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be given.

(i)  After this verification is over, the test booklet number should be entered in the ICR answer sheet and the ICR Answer Sheet
number should be entered on this test baoklet.

4, Each item has upto four altenative responses marked (A), (B), (C} and (D}. The answer should be a capital letter for the selected
option. The answer letter should entirely be contained within the corcesponding square.

Correct method A Wrong method OR

Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under Paper [l only.
Read instructions given inside carefully.
Rough work is to be done in the end of the booklet only.
You have to return the original ICR Answer Sheet to the invigilators at the end of the examination compulsorily and must not carry
it with you outside the examination hall. You are, however, allowed to carry duplicate copy of ICR sheet and test booklet on
conclusion of the examination. @
9. Use black ball point pen.
10.  Use of any Calculators or log tables or any other electronic devices is prohibited.
11. There shall be no negative marking.
12 In case of any discrcpancy in Gujarati and English version of questions the English version should be taken as final.

el 12 ya-uail : :

L vl Sy sulddl oup aauil AerisR avi.

2. BN olgAsRYs Gl Y3lad g VAR (ow) wadl audan B, o o Hal s B 8:

3. uball agouani GRealR A HaryRest iy viadl. uam u MRz e, Gleard nadyRas widl w1 s Brdaud 412

98 -1 &N W

yopop yFlad s34,
() MetyRetaiedl AU s 2 20 5a2 -l Wz w2 sula e S8l i, ASwa Aol e 2882 e -Gk vied nayRas
adlsiall A,

() 592 Y Y udd RTugaur HeyRsieil uan yadl a4 vt oo AusiRll el willyse waryRst b Sl yoo -l aits
Gid, 6Ll el S1Y, D1 Ml vima 516 2urt 28 i vl Sl6ut 5128 vy s waryRest wdlsiadl Adl i o welly s
st yRei st Mol i el Pu¥las WRell g ¥t o oflp 213 MamyfRest ROl AdL, 2 Hi2 GREAUR A Wi Rl wedusi punan
agaidl. eslell, wariyReis eescnt wiadl Al 3 A aul2idl wad wel s i -l
@) wiLaswell A iy, 252 YRt 451 ICR Yot WaLsM] dvicl 3 ICR Fasl Yats (o2 wayfasi ur avad,
4. N4 Hot W2 A2 Gz BSEU {A), (B), (C) WA (D) viuald wu1de &, waisal=ll arauet st vidle 3laa sy sizl o sivdl. wiis
s3a i3t Slad viaz pude wi-i dyel 418w o d Ad audl.

Wl Ald: A Wil fld: ! ney|

> W2e Y Bt 51711 Marietl e 24cto1e] 2] 26 ICR Falol WetsHi T4 -3 dviet [asioni o vl

{52 2o YAl e yds i,

2L 3z Y (et 51l il 21 Tet Ui 26 B HIZ B, _

Wi a2ty Y31 Al 0w uedl vilFlepriel ICR arctisl Usts o A FElasA s 2eutd vl B v stdwa dopioixl utaws-l oz oS 2isdl
-1l e ysl AL o1t GieeR MeyRdsl asl ICR yalsadl-l glade s1d didi-l wd el o ub 6.

@ ot s1fl et s10f] skl Ut w2l

15, esydex wA wed SAsARS Yol Guaicl s wrud 6.

P efi2uerels 42 AR Jais- e el

12 ueAYRdsinl S Wara Agais i3l sid Raleidele ity di 2i5ie doid diod ARl .

w @B



Commerce—II1




Note

dlgy :

COMMERCE
PAPER - III

allSiay
RV | § |

: This paper contains Seventy five (75) multiple-choice/assertion/reasoning/

matching questions. Each question carrying TWO (2) marks. Attempt All

the questions.

8. dMBL Hadidl st avidldl . UdAs Uadt A () e 6.

2l U] dAAR (eu) otglasedly usdl, Wy vz »A ASsE oisladi-l el

N

In the analysis of economic

environment there are certain

economies which are in the
transition from centralized
economic system to market

economy. They are referred to

as :
(A) Transitory economies
(B) Transition economies
(C) Developing economies
(D) Open economies

Who presides over the National

Development Council ?

(A) The Chairman of the Planning

Commission

(B) The Secretary of National

Development Council

The

Central Government

Finance Minister of

(C)

(D) The Prime Minister of India
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Which of the following statements

is correct ?

(A) A legal protection granted for
an mvention that is new, non-
obvious and useful is called a

trade mark

(B) Trade and Merchandize Marks
Act, 1958 was first implemented
in Gujarat

{C) Trademark Act was made
i 1997

(D) A part of Brand which can be
recognized but is not utterable

is called a Brand-mark

Which one of the following is

correct ?

(A) The MRTP Act, 1969
was replaced by Competition
Act, 2010

(B) The MRTP Commission was
replaced by Competition

Commission

(C) The New MRTP Act took
the place of Competition
Commission

(D) Competition Policy and the
EXIM Policy are almost

same
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In globalization the ...................... is
a very common strategy of entering

into foreign market.

(A) Licensing

(B) Management designs
C) IJoint-ventures

D) Mapufacturing

Assets in the balance sheet of a
company are arranged in the order

of :

(A) Book value
(B) Liquidity
(C) Permanence

(D) Market value
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Profit and Loss account shows

the :

(A) Financial results of the concern

for a period

(B} Financial position of the

concern on a particular date

(C} Financial position of the

concern for a period

(D) Financial results of a concern

on a particular date

After reissue of forfeited shares, the
surplus in the Forfeited Shares

Afc is transferred to :

(A) General Reserve Alc

(B) Reserves and Surplus A/e

(C) Profit and Loss Alc

(D) Capital Reserve Alc
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9. Match the following :
In case of purchase method of
amalgamation.

@ If fair value (@) The double
of net assets entry is completed
is more than by opening the
the amount of amalgamation
purchase adjustment
consideration Account

() If purchase {b) The difference is
consideration credited to capital
is in excess of reserve account
value of net assets

(II) Ifstatutory reserves (¢} The difference
are required to is debited to
maintain their goodwill account
identity
Codes :

M ap am

A b)) () @
(B) @ ) @@
C) (@ & (0
D) ) @ ©&
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10.

11.

(@)

(b

(c)

Who is interested in master
budget ?

(A} Lower-level management
(B} Top management
(C) Middle-level management
(D) Functional heads

Find the correct matching of the
items of List I with the items of
List II.

List I List II

Normal profit fi} Excess of total

revenue over

total explicit

cost

Economic profit (i) Total revenue

equals total cost

Accounting profit {iz) Excess of total
revenue over
total of explicit
and implicit costs
and a normal rate
of return

Codes :

@ @ @)

(A © @ (&

(B) &) (@ (@

) @ B @

D @ @ @
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12. Who gave the behavioristic 12, Guoelisdil 3ot w2 44 adnagl

explanation of consumers’ demand : y AR '{:{Luﬁ 9

A) Alfred Marshall
P Marsba (A) Wads Hilg

(B) J.R. Hicks
(B) %. »ux. (8s5u

(C) Paul Samuelson |
(C) wia AYAUuUA

(D) Edgeworth
(D) Wwad

13. In a production it was found that
13. s Gewlert VeluMi 16% ol aairi 2l

production changed by 16% when

w1 AL 3.6% 4l aml. Yey
all the inputs were changed by

WAL &
3.6%. The output elasticity is :

(A) 4.2
(A) 4.2
(B) 4.4 Bl S
(D) 4.8 (D) 4.8
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14.

15.

Internal economies accruing to a

firm do not include :

(A) Financial economies

(B} Managerial economies

(C) Economies of superior

technique

(D) Economies of location

During the short-run the optimum
level of output corresponds to that

level of output, where :

(A) Marginal cost is minimum

(B} Average variable cost is

minimum

(C) Average cost is minimum

(D) Average fixed cost stops

declining
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16.

17.

Which one of the following is not

a method of collecting primary

data ?

(A). Schedules and Questionnaires

(B) Direct Personal Investigations

(C) Computerised databases

(D) Projective Techniques

Which one of the following is non-

probability sampling technique ?

(A) Random sampling

(B) Snow Ball sampling

(C) Stratified sampling

(D) Sequential sampling
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18. Match the following : 18, (A Ana) :

(i) Association between (a) F-test @ el 9|
attributes Aoigy

(i) Large samples (b) t-test G) AR [edq

(i) Small samples (c) xz-test (iii) 4y [(Read-

{(fv) More than two

(@) & $dl aad

(@) F-uilaa

&) t-ulaw

(c) x2-1l ANaw

sample means (d) z-test Reddl ¥3u2 @) z-udlas
Codes : As :
@ @ @ @@ @ B) @© @
A @ G & (A) Gv) (&) @) (i)
B) @) @) G Gv) B) &) @ G Gv
©) Gv) G @ @ C) Gv) G&E) G) 6)
D) Gy ¢ @) G- D) G & @) G)
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19. Karl Pearson’s coefficient of
correlation between two variables X

and Y can be calculated by :

(A) Co-variance between the
variables divided by the
product of their standard

deviations and N

(B) Co-variance between the
variables multiplied by the
product of their standard

deviations

(C) The product of the standard
deviations of the variables
dividgd by the product of total
deviations of X-variable and
total deviations of Y-variable
taken from their respective

averages

(D) Co-variance between the
variables divided by the
product of their arithmetic
averages
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21.

- 20. Which one of the following is not

a positive characteristic of &

computer ?

(A) Speed

(B) Versatility

(C} Accuracy

(D) Vulnerability of stored data

Assertion (A) : Management is a

continuous process

Reason (R) : Managers first plan,
then organise and finally perform

the function of controlling
Codes :

{A) Both (A) and (R) are correct and

(R) is correct explanation of (A)

(B) Both (A) and (R) are correct, but
(R) is not a correct explanation

of (A)

(C) (A) is correct, but (R) is

incorrect

(D) (A) is incorrect, but (R) is

correct
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23.

......................... has developed the
technique of ‘Management By

Exception’.

(A) Peter F. Drucker
{B) Henry Fayol

(C) F.W. Taylor |
D) L.F. Urwick

Which one of the following is called

‘Management by results’ ?
(A) Management By Objectives

(B) Management By Exception

- (C) Management By Walking

around

(D) Manage scientifically
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24. "Leaders are born not made”, refers

Lo ;
(A) Great-man-approach of
managing
(B) Great-man-approach of
leadership
(C) Trait-approach of motivation
(D) Autocratic-approach of
leadership
25. Ethics provide :
(A) Consumer Autonomy
(B) Corporate Social Responsibility
(C) Justice
(D} All of the above
26. Functions of marketing

management consists :

(A) Determination of the marketing
objects

(B) Marketing Planning
(C) Marketing Orgarisation

(D) All of the above
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27.

28.

29,

Which of the following is not true

about publicity ?

(A) Tt is done through mass media
(B) It is one way of communication
(C) It is paid form of propaganda
(D) It is non-personal in nature

Which of the following is not a base

for segmenting consumer markets ?
(A) Occupation

(B) Education

(C) Quality

(D) Social class

Which of the following does not

belong to marketing concept ?
(A) Product concept

(B) Production concept

(C) Services concept

(D) Social marketing concept
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30. Itis a set of procedures and sources

31.

that managers use to obtain

everyday information about

developments in the marketing

environment. It is called as :

(A) A Marketing Information

System
{B) A Marketing Research System

(C) A Marketing Intelligence

System
(D) An Internal Record system

According to MM Proposition, in the
presence of corporate tax, the

optimal capital structure would

be 100% ........cuveuu.e....
(A) Equity

(B) Debt

{C) Bonds

(D) Debentures
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92. An approximation formula for 32.

calculating cost of debenture is :

l *[F;P"]

tA} K‘i = ———

5)

B) K, =

]

©) K, = ————=

(M K, = : B

33.

33. If the Net Present Value for a

project is negative, then :

- {A) IRR = Cost of capital

(B) IRR < Cost of capital

(C) IRR > Cost of capital

(D) BCR =1
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34. Baumal’s Cash Management Model  34.

36.

attempts to minimize :
(A) Holding costs

(B) Transaction costs
(C) Cash balances
(D) Total costs

Who developed one of the earliest
models linking the value of the firm

to its dividend policy ?
(A) Walter
(B) Gorden
(C) Miller

(D) Modigliani

J6,

Recruitment means :

(A) Conducting interview

(B) Selecting fresh eandidate
(C) Attracting candidates for job

(D) Appointing a new person
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37.

38.

39.

The appraisal process is designed by

the :

(A) Sales Department

(B) Finance Department
(C) Personnel Department
(D} Marketing Department

Which one of the following roles of

HRM is really strategic in nature ?
(A) Policy maker

(B) Change agent

(C) Administrative expert

(D) Fire fighter

Which model of HRM highlights the

interest lof all the stackholders ?
(A) Harvard model

(B) Warwick model

(C) Storey model

(D) Legge’s model
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40. Which of the following Acts does

41.

not provide social security to the

worker ?
(A) Minimum Wages Act

(B) The Payment of Gratuity

Act

(C) The Workers’ Compensation

Act

(D) The Employee’s  State

Insurance Act

Schedule-3 of the Banking Act is

related to :
(A) Borrowings
(B) Capital
(C) Deposits

(D) All of the above

Commerce-III

40.

A Ts] s41 s1uel stHelA

ALUCs s varidl Y3l wsdl el ?
(A) agaH dd-d Rl

(B) alagﬁél ysagll w1l

(€) s andz E{;.Q\l

M sl ey dw diw-u arl
o33 A se-L dAsyd 3
doifad & :

(A) Gel-u dq

B) ysl

(C) wual

D) BGu«iL o8l o



42.

44.

The First Narasimham Committee

brought about :

(A) De-regulation of interest rates

(B) De-regulation of borrowing

(&)

De-regulation of management

of banks

(D) of bank

De-regulation

custormers
Electronic Banking requires :

(A) Firewalls and operating

systems
(B} Codes and confidence
(C) Electrons and passwords
(D) Networks only

The Reserve Bank of India has
evolved the following model for

rating of Indian Banks ;
(A) GAAP

(B) XBRL

(C) CAMELS

(D) BANCASSURANCE
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42.

43.

44,

Y ARReeu s qiy

(A) % exinl w9

(B) Gl Aard lm>1

(C) elsi-i AW qFA

(D) S8l Alssig Al
dasdls dglomi w3luld & :

(A) sRdid 24 wRAlan ygla-l
B) AidQs eumt v o1l
(C) Sasgi-u v AikRs woeidl
D) §5d aa-dl

otRdly dlsinL yeuis w2 ﬂtzcﬂq
qiSaril

Ard 6%

..................

([Aasi sul.
(A) GAAP
(B) XBRL
(C) CAMELS

(D) S5y~
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45. IDBI Bank wag constituted 45.

through a :

(A) Merger

(B) Reverse merger
(C) Take-over

(D) Acquisition

46. Ethnocentric firms are those whose

orientation is :

(A) Compatible with host country

marketing

(B) Compatible with home countrj

marketing

(C) Compatible with no specific

country

(D) Compatible with a region

‘ Commerce-II1 24

el b,

IDBI &sl 2aiunt ......, of| we,

(A) AuLo

B) Ryud Al

(C) Hufxdl Al

M) Gug-l

Wirawla i+ad del 21 o Il

- :

(A) Y i 2L olse AL

dad &
(B) A Ul o528 AS AdAd &

(© £ 3s RPad a1 AB Qo

-l

19)] ils 82 A8 qad B




47. Domestic currency depreciates

when :

(A)
(B)

(&)

There is an inflation
There is deflation

When domestic inflation . is

higher than foreign inflation

(D) When domestic money supply
is less
48. The Andean Pact belongs to which
level of regional economic
integration ? -
(A) Free Trade Area
(B) Customs Union
(C) Common Market
(D) Economic Union
49. Cabital Account convertibility will
affect :
(A) Repatriation of profits by MNC
{B) Value of India’s exports
(C) Value of India’s imports
(D) India’s current account balance
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47,

48.

49.

sl Hald vayeud Ul

AU :
(A) goudl iy
(B) $UcIMi H2LSL &ld

() @l goudl [Rusl goudl

53l qald ey
M) wngui Al yld sl siy
WSl Us2 2 &-{ly slflsaidl sul
g L 8 7
(A) ¥sd AUl &l
(B) %5l AY
(C) AHIY 61AMR
M) »ulds e

Yol vitdidl uRadslladi-dl xqu:

3el -

(A) i e, Y gLAL tSLAL ML

EATE]
(B) otlid-l (sl e Gur
(C) Udrl dlulddAdl e GuR

(D) LAl ALg Hidi-l Augear Gu
[P.T.0.]



50. Match the following : 50. Hd3U s ¢

Part A . Part B *ud A *uA B

WTO Ministerial  Held in it D

Sl Y|
Conferences
(w) NN (1) %l
() First (1) Geneva
) [edlu 2 RiLuy:
(x) Second (2) Singapore
) ddlu (3) €lsl, SR
(y) Third (3) Doha, Qatar
@) ugd 4) Rivlea,
(z) Fourth (4) Seattle, USA
' Y. 2.2,
Codes
- 8S :

w @ @ @
w @® @ @

A
@A @, @, &, @ (A V), @), @), @

B) @, @), @, @ B) 2, 1), @, 3

© @, 2, @), O ©) @), @), 3, 1)

M M, @, @, @ O @), @), @, @
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51. In an inflationary period, additional
depreciation is required to be
charged to cover the backlog of
depreciation of the gross current
replacement cost of the assets that
increase every year when accounts

are prepared as per :
(A) Cash system

(B) Current Cost Accounting

Method

(C) Current Purchasing Power

method

(D) Mercantile system

52, Which of the following is the oldest

form of a derivative contract ?
(A) Futures

(B) Forwards

(C) Options 'I

(D) Swaps
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52.

Sl WHARLOUHL sl sl

Alg, Yrit UL USAR % 3 ad afl
&, drll oSl qALL, QUL BALRL
a3 Gl 20 8 wul Bue

TS AR CTERU DT O

(A) sS uald

(B) Y usdz [Bulell uald

©) alg wle uld uala

M) Awsl ugld

A U4l sy &31d2d 02 g-uHl
SRR

(A) syl

(B) sivaSy,

(C) LAy

(D) YUY
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54.

----------------------

was set-up by RBI to
deepen and activate Indian Money

Market.

(A) State Trading Corporation of

India

(B) Discount and Finance House

of India

(C) Both of the above

(D) None of the above

Paying an excessive price for the

acquisition is called :

(A) Hubris spirit

(B) Megalomania

(C) Winner's curse

(D) Green mail
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Mld el s Glg dat uglivy

53dl M2 uR.6ll. 208, g1

UM sqUUL 2y,
(A) w2 283 Sl s Sksy

(B) [83516v2 A-s Bl 16U iis

syt
(C) GUsd oiv

(D Guisd 515 Al

54, Uld 2 AMBs Bud ysad 53

£ :

A) glon RuRRe

(B) AdueiiHu

(C) (- i

M A ASa



55. Which of the following is nrot an

56.

accounting software ?

(A) TALLY

(B) WINCA

(C) EX

(D) BANCO -

In which of the following concepts
the marketers identify the hierachy
of. attributes which guides the
consumer decision-making in order
to understand different competitive

forces and its formation ?
(A} Market Myopia

(B) Market Partioning
(C) Marketing Myopia

(D) Meta Markets

Commerce-—-II1

29

55.

56.

a4 U5l sy [Raiell izsedr
1yl ?

(A) TALLY

(B) WINCA

(C) EX

(D) BANCO

LA A4] 56 Qanuelx soar 514
53U agei-dl eluai o 8, ¥
an suss [Rely A wa-l [@fag
AN 82§ WRAGL wA At 8SdR

[@d awoledd 21l & :
(A) e wa [sedl

(B) «2R [Aoux-

(©) e uEa [Rsad

D) YA AU

[P.T.O.}




57. The practice of tailoring products

88.

and marketing programmes to the
needs and wants of specific
individuals and local customer

groups is called as :

(A) Market Targeting

(B) Target Marketing

(C) Integrated Marketing

(D) Micro Marketing

Companies using call centers for
receiving calls from customers is

described by the following :

(A) In-bound Tele-marketing

(B) Out-bound Tele-marketing

(C) Advertising

(D) In-bound and out-bounding

tele-marketing

‘ Commerce-II1
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57.

68.

Alssy Aldad wA 2Ms wesidl
%3RU 2 HASL vAR Vel 2R
oo sidsHl Y1 wsadl ugl
ved :

(A) o2R qauilid 539

(B) €& o212

(©) yuld sm:

D) * ooz (ag o)
sudlatl 2 Alesi wAYl sien
Raaal, sid-d-2z-l Gydia 53 @, aA

aed)l sy :

vid-ARd (S-oubs) 20&-

STEAER]

(A)

oa-ARd (2G2-01Gws) 2[A-

I ER]

(B)
(C) Add uBu
(D) Aid AR 21 we-uRd 2

Wi2ay



59.

60.

Which of the following is not the

stage of product cycle ?
(A) Introduction

(B) Growth

FC) Market segmentation

(D) Decline

Marketing is 2 human activity

directed at satisfying needs and
wants-through exchange process, is

the statement of :
(&) Cundliﬁ' and Still
(B) Kenneth Andrew
(C) Philip Kotler

(D) Kishwar S. Kan
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50. el - s+l Qewdt dd

60.

aadl A 49 58 euod B ?
(A) ¥da

B) [s/qle

(C) o [Asuw-

(D) usdl

‘ot WEUL W wAdly ugl 8, %
AR g1 Anssl 3utd i
H29LR AN 77 2L Qe A-u 4
sid & 7

(A) swSls uA e

(B) ¥la u-gy

© By siear

(D) Slaay AU, sl

[P.T.O.]




‘ 61.

62.

63.

Audits of non-managers is called :
(A) HR. Audit

(B) Managemeﬁt Inventories

(C) SKkill Inventories

(D) Human Resource Inventories

The best way of recruiting is

always :

(A) Walk-in

(B) Referrals

(C) Advertisement
() Variables

Identify from the following, the type
of change that occurs after external
forces have already affected the

performance :

(A) Proactive change
(B) Reacting change
(C) Responsive change

(D) Freezing chahge

‘ Commerce—II1
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61.

62.

63.

daulds A eid ddl  yBdail

(sl20) -u B2 ssay :
(A) Hidd duEA wilde

Ald A6l Ha- sl Ane
(Sderl)

asd ANl Hg-wHdl Ane
(Srar2)

Hida AdALEA Hold] Me-an3l
Ang (SeaAr2¥l)

Hadl squ-l Sv el SR

(B)
(CY

(D)

nnnnn

-

9

(A) dis-H+

(B) (RE[RL 2121
(C) Mdd

D) [ARY a4l g1zl

ofle WXBML gLl A wHa

S0 uRadH-l ustz (A
14 viia :

(A) vuaall uRad-

J(B) WalZulets wRad+

(C) ulaeuacns yRad-

M) la—ulrad+4 (WRad-l

29 B1ddL)




64.

65.

66.

Performance appraisal is a part of

the following :

(A) Career Development
(B) Career Training
(C) Career Upgradation
(D) Career Welding

Which is the simulation of the
administrative tasks of a manager

job ?

(A) Role play

(B) In-basket

(C) Discussion group
(D) Interview

EXIM bank extends line of credit

to the following except :
(A) Foreign Government
(B) Foreign Government Agencies
(C) Foreign Financial Institution

(D) Foreign Companies
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64.

65.

66.

5030 yeuist AA- UL BAsl oL
9
(A) sil3el [as
B) sl
(C) uel~iQ e sl
M) sel A

datasdl sixoll adladl sif-u
pigAa QA4 VL 54 49 Aguc
qud 8§ 7

(A) oylMsL ol

(B) waui Ag (S-ou2)

©) Al

(D) Al3douid Yetsid

AsoflH ols [Auigl et w2l
@ Raw % :

(A) [zl wrs12
B) [l w5l AF-=21
(C) Rzl Amifly Wi

@ @zl su-la
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67. To be eligible as MNC a firm

68.

should have over its foreign

affiliates :

(A) ownership only

(B) control only

(C)

either ownership or control

(D) neither ownership nor control

18 needed

The aim of foreign exchange risk

management is to :

(A) Maximize profits

(B) Earn a minimum level of

profit

(C) Minimize losses

(D) Know with certainty the future

cash flows
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68.

A5 H, AU ¥l vyl g
2 w5 WAL daan [Qeafll 254l

GuR

(A) 554 gl sidl AsA

(B) &5q [Rd»@ gidl A5

(©) Wwlafl vya Y9 sial AR

@) R4 waal Frisel o3Rud

-l
(gsll [alHy Auy dwa Ga
9 :
(A)

4§11 wURASAU s34l

(B) =YrdH sl ssuell sl

(C) Qs Yeid¥ sl

(D) oam UssS uced MBad 3%
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69.

70.

A speculator is bullish about index
nifty which stands at RBs. 1,150. He
decides to buy one three month
nifty call option contract (havihg a
market lot of 200) with strike price
of Rs. 1,210 at a premium of Rs. 15
per call. Three months later the
index closes at Rs. 1,245. His profit

(or loss) on the position is :
(A) Loss of Rs. 9,000

(B) Profit of Rs. 9,000

(C) Profit of Rs. 3,000

(D) Profit of Rs. 4,000

Under the Bretton Woods system
the only currency that remained

convertible into Gold was :
(A} The British Pound
(B) US Dollar

(C) Japanese Yen

(D) Chinese Yuan
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69.

70.

s Rdusiz ¥ Msd S-8s5u Hie
dgo-l sual AW B W SS5A VX
3. 1340 AL &d ¢, 3 [AdusiR
A8 H[B-d s [Msdl sia vilran
(¥ o122 ez 00 ) 3L. 1340
wIos ey wileald -ssl 53 9,
a Guz u@ 54 3. v BBy 8.
A8 HIEAL ugdl 0 SE5A 3L 1¥U
R oy Ay 8. AW [RAusiHdl dist
(vual 4sui) 20 uRRadl ur
9

(A) 3L. €000 +i 5l

(B) 3l. €000 i di™
(C) 3L. 3000 -l dAl™
(D) 3l. ¥00O -l &ld

ded qsu velanl ¥ yst -
yRaddly wedl R gdl :

A) [mRa ui-s
(B) y.¥, Sidz
(© wdl Ax

D Al Y
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72.

71.

To be resident of India, the
individual coming from abroad
during previous year for the first
time has to remain present in India

for minimum :
(A) 182 days
(B) 60 days
(C) 90 days
(D) 180 days

Expenses incurred by the existing
concern after commencement of
business on raising long-term loan
is :
(A)

Preliminary expenses under

Section 35D

(B) Interest and financial charges

under Section 36 (1) (iif)

(C) General expense under

Section 37(1)

None of the above

D)
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73. Where a partner transfers any

capital asset into the business
of firm, the sale consideration
of such asset to the partner shall

be :

(A) Market value of such asset on

the date of such transfer

(B) Value at which it was recorded

in the books of the firm

(C) Cost at which the asset was
originally acquired by the

partner

(D) Cost at which the asset was
originally acquired by the
partner with adjustment of cost

inflation index
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73. aw1? s ollelr, sl yslid

A$AMA, Ul gl oedl 52 8
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74. Ojas Ltd. established in Himachal

Pradesh, commences its operations
on 1-1-2012 and produces the article
prescribed in the Fourteenth
schedule. The undertaking will be

entitled for the deduction of :

(A) 100% of profits for a period of
10 years commencing from

initial assessment year

(B) 100% of profits for a period of
b years commencing from
initial assessment year and

30% of profits for next 5 years

(C) 30% of profits for a period of 10
years commencing from initial

assessment year

(D) 25% of profits for a period of 10
years commencing from initial

assessment year
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74, wiwA (AM2s ¥ Ruiag UsaHi

WYAE © d 1-1—301% -l AUY
siyllFad ada 8, e 1y ML RIsyanl
MERIA axgild Goued 53 8. 0l

AL sUd W wAsA ©

(A) uiz‘[ﬁu 151280 arlell A1g 570

10 a¥ yHl 100% «st |2

(B) M35 2us12:0 ady]l 2ng 571
gy W2 100% Sl W2 A

yedl-l W gt M2 30% s M
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90 9 M2 30% sl M2
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75. Match the following :

() Retain or Replace

(&)

@#r)

(iv)

Codes :

@
(A) (a)
(B) &)
(C) @
D) (©

Commerce-—-II1

Make or buy

Lease or buy

Invest or disinvest (d)

(i2)
(b)
(d)
(a)
()

(@} Lease rentals, (i)
cost incurred and
deductibility

(b) Disposal value,

Purchase price

and rate of

depreciation (it}

(c) Inflows (Capital

and Revenue) and

deductibility or
chargeability of
inflows or
outflows (Actual
or Notional)

Cost incurred

{capital or (Gv)

revenue) and

deductibility

() ()
€) (d)
(@) (o)
@ &)

(@) (b)
39

75.

A Hoay :

Uud ¥ eead

oilag 5 wleq

RUSIug Ad %
wileg

Rde ¥ B[Rds @

5s
(©)
(A) (=)
B) @)
(C) ©
D (o)

(ii)
(b)
(d)
(a)
(d)

{(a)

(a)

)

(c)

R{LSLMELT CUg,

YSd2 4
SYlAULAdL

BETCTIS
wile Bud

A, HALR AL
£3

(38101 aan
A 5L) iR

Held ol
SUldMLAL

wyal (ardls
Ml sieulis
MidANALS

2194l
oMLl

53UACL
(38lo1d wual
silasl) UsdR
dal SUldudL

() ()
(d)
@ ()
d) (b
()
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ROUGH WORK
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